D1°9MON NN’ NANIN — 4 P9

7191 Naxn

79990 N9VN

NPYI PING TIT IV DIMININR MM PYNN DY DINWN DXIAYWN VIO NYNNIN NWXTH
MYV TPOVNPNNN NPONNN DY MION .OTIPN P92 NHNY NPYIN I INY MM
DM90NN NPYNN DY MDD .TPINYY DOV NN MO YINdIYY MAIDN .NPUIIYUN
DMWY DNV 90N NYVN ,OPNIPRN

o2YINn
INWM DIPINON MDY e
MVNPNNN NPONNN - e
DMOVA NN NOWS e
DYNOYA NPDNN TPIRY MW e
PNIIADY 100N PP ®
MNMNYN e
TONIPR PN @

y72'0;7T'TI D'YAT

NPYTY 7PYIAN NN Y2DWA VIP MNPNMT NN DY MYNPWYNN MIYRID NMINN P92 e
SY NMD) LYY P9 L6 P92 AN VDR MNHDNT NN DY RYDD PN
LDMMIMON

DYTIONN I WITTOY,NNNTO MNINN NISN ToNN2 AYYI adY YD NIMOAW)NTIO W e
L0DP MINDNT HY NIOIRNN NN DY NTOPN TIN,PI92W MONYN NN »2DVA NTHaY
OPON P ROX PNINAN 22OV DD NI KD DYDY MY PITHA NN NNIN
DO NN DXASWN DY NTOPNN NN TIIY N TIODN 0N VNN . NNN DN
LONIMONRN DY MNAN TONN2 DN WX ATV DOVIHNIN

1-5 0 P2 O>wNN 990N 2ND T NIVYYND THOYY 112 TIRIPN 1PN RYDD TNODa e
DT DY N-1D YOP OWNN 90N NN TN D) nextDouble () NN T DY
nextDouble () * N

AWNNN YN -16- DIAN-5N NVOOIDNN,DYTHN ARNN



nninnos

4.1 NHNY

VWY @ 20-n DYTHIN DD DDP TAR DI 0NN NONN DT TNX DI WP M 12 )T
50 YPNHY DONTI PINY NNPDY NNX NMPD qUON DD YO NN THRY HODNN ©MaNN
MT NN VIPI Y2APNN DMINVIN NN LTAX D5 @ 1 OMOYY DXPPLON NP> G0N NN
NN HNY .NNPY IWARY DOPOOVDNN NN AR VI PN ,0I1INNN TAN Y HDPY NONNN
Java nowa m5mna onINoNN

4.1 NIVYN

SMINDIVT MYNNIND YN NN
DYPOVDN 63 MNP 1NN VY 42 50 21:00pD e
DXPOLON 40 NNPY YN : VYD 36 24 30:0V0p e

S MNOYN-NND YN P19
AN 12 )T OV 0O MNIDD NIR DNXMNN DMNDY DIV0N NYILY NVYP .1
951N DPON IWN .2
9915n ©YONN 50 TN NN .3
VIO TSN .4

: DINYN NN
)7 52>pY 9051 0190 ,05¥ —danMoney
12 52°pW 905N 01OV ,0YY — benMoney
N DPY 05N 0150 ,05¥ —henMoney
D>aNN DYDY Vv HY910n quon 0150 ,00v — sumTotal
nPY 0NN DDV DXPIXVDNN 19D ,09YW — numGum

$OMINMONN
danMoney-2 2/4 p/2 2908 OIfp .1
benMoney-2 /4 plE 2208 CIP
henMoney-2 ’2/4 p/2 220x GIfp
sumTotal-2 pgm/ /J@e PID2TD NG /20 MNe DEA
numGum -2 pg»/ sumTotal-# 50 %o 13/ (& p'prGOoND 290N e D8A
PNIMN 2Z3/7 732 numGum 8 /29 M GI9> &3

o vy W

2UNNN YN -17- DIAN-HN NVOIDNN, DY THN NN



: DIINOND DIW»

/* mrIamnn ITR 2D 227RU 9DON DI1DD VR
@ 50 17°'MNW 20717TON NW'DON MR? N1IR? 12210 D' UYDNN 190n :u?9 */

import java.util.Scanner;
public class GumsAndBasketBall

{

public static void main (String[] args)

{

Scanner in = new Scanner (System.in);

// DTINUN NITAN

int danMoney, benMoney, henMoney; // V2> D'IN'1N D'N1D20N
int sumTotal, numGum; // 12017 W D'DUN

final int BASKET_BALL_PRICE = 50 ;// 2071720 1'7n — D117

// VR

System.out.print ("Enter sum of money for dan: ");
danMoney = in.nextInt();

System.out.print ("Enter sum of money for ran: ");
benMoney = in.nextInt();

System.out.print ("Enter sum of money for hen: ");
henMoney = in.nextInt();

// TM' 02127 W'W 90DON DIDD 210 T

sumTotal
// 2071750 17N 10T

= danMoney + benMoney + henMoney ;

numGum = sumTotal - BASKET_BALL_PRICE ;
// 1?9
System.out.println("You can buy " + numGum + " Gums ");

} // main

} // GumsAndBasketBall
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125N TN, 00V — length
125HnN 2N, 00w — width
250N NV , 05V — surface
12511 NOION PwNn — diagonal

:DIINONN
length-2 /24 p/2 2208 CIfp .1
width-2 72/ o/ 220n GIfp
surface-2 p&n/ /OIRJE. ppr29Fm J& MION N 28
diagonal -2 pen/ MF/30 12127 p/20 8 29/2 13’ /7 /oS rMe 2EA
diagonal #/ surface /2 /227 pMe CID> &3

oox W

: DNIMONRN DY
/* 12%n 20 NI1U?2¥Y 20 DTOOIR TIW :U?R
120 11022®8N TIIXRT ,1U2R1 1'N1D2Y0 12°2nn 20 1TV0 :u?9 */
import java.util.Scanner;
public class Rectangle
{
public static void main (String[] args)
{
Scanner in = new Scanner (System.in);
// DTINUN NITAN
int length, width, surface; // 12%2nn TUO1 2M11 TR
double diagonal; // 12%nn 110D7R
System.out.print ("Enter length and width :");
length = in.nextInt();
width = in.nextInt ();
surface = length * width;
diagonal = Math.sqgrt (Math.pow(width,2) + Math.pow(length,2));
// T2 DA 110D22X8N NXR 2AWT? WOR
// diagonal = Math.sqrt(width * width + length * length);

System.out.println("The surface is :" + surface);
System.out.println("The diagonal’s length is :" + diagonal);
}//main
}//Rectangle
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: DNIMNONN DY
/* RPnN? T[R90 20 D'DIUVN 190N 1uR
TTR9N W 17DW1 ,T12V? 172V0 NIRTNI NI1DWA 190N U9 */
import java.util.Scanner;
public class Clerk
{
public static void main (String[] args)
{
Scanner in = new Scanner (System.in);
// D'D12R1 DTINUN NOTAN
final double PRICE_PER_FORM = 6.3;
final int MINUTES_PER_FORM = 10;
int numForms, numHours, numMinutes ;
double salary;
System.out.print ("Enter number of forms: ");

numForms = in.nextInt ();
numHours = (numForms * MINUTES_PER_FORM) / 60;
numMinutes = (numForms * MINUTES_PER_FORM) % 60;
salary = numForms * PRICE_PER_FORM;
System.out.printlnln("You need to work " + numHours +
" hours and " + numMinutes + " minutes ");

System.out.println("Your salary is "

+ salary + "NIS");
}//main

}//Clerk
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: DNIMNONN DY
/* T mRNN T117% NUIRU U
1711°Y U¥Inn :u?9 */
import java.util.Scanner;
public class AverageThreeGrade
{
public static void main (String[] args)
{
Scanner in = new Scanner (System.in);
int historyGrade, bibleGrade, literatureGrade;
double average;

System.out.print ("Enter history grade: ");
historyGrade = in.nextInt();
System.out.print ("Enter bible grade: ");

bibleGrade = in.nextInt();
System.out.print ("Enter literature grade: ");

literatureGrade = in.nextInt();
average = (double) (historyGrade + bibleGrade +
literatureGrade) /3;
System.out.println("Your average is: " + average);
}//main
}//AverageThreeGrade
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/* NTTN?NN T117Y NU120 suRp

910 11°'% :u?g */

import java.util.Scanner;

public class GradeComputerScience

{

public static void main (String[]

{

: DIINOND DIW»

args)

Scanner in = new Scanner (System.in);

int gradeFirstTwo, gradeThird, gradeFinalTwo ;

double finalGrade;

System.out.print ("Enter grade
gradeFirstTwo = in.nextInt();
System.out.print ("Enter grade

gradeThird = in.nextInt();

System.out.print ("Enter grade
gradeFinalTwo = in.nextInt();

for first two units: ");

for third unit: ");

for last two units: ");

finalGrade = gradeFirstTwo * 0.33 + gradeThird * 0.17 +

gradeFinalTwo * 0.5;

System.out.println("Final grade: " + finalGrade);

}//main
}//GradeComputerScience
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: DNIMNONN DY
/* N790 A¥Tnn 1N 1u?p
15-2 n?92>1nw mMR? N190n1 ,10-1 N292100 1TR? N190N ,N190N U229 */
import java.util.Scanner;
public class DigitChar
{
public static void main (String[] args)
{
Scanner in = new Scanner (System.in);
char charDigit;
int digit, digitTen, digitFifteen;
System.out.print ("Enter your character: ");
charDigit = in.next () .charAt(0);
digit = charDigit - '0';
digitTen = digit * 10;
digitFifteen = digit * 15;
System.out.println(digit + " " + digitTen + " " +
digitFifteen);
}//main
}//DigitChar
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rnd.nextInt(y — x + 1) + x

SUPIANN TIDINNYOP A

System.out.print ("Enter the small one, and then the big one: ");
int x = in.nextInt();
int v = in.nextInt();
int num = rnd.nextInt(y - x + 1) + x;
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/* NT'AR 27121 ,N11T2 D'RUDN 190N :U2(
D T1IR R21 D'T1IR D'R'UYDN 110 :U?9 */
import java.util.Scanner;

public class Gums

{

public static void main (String[] args)

{

Scanner in = new Scanner (System.in);

final double PRICE_GUM = 0.2;

int numGums, sizePack;

double worthWrapped, worthNotWrapped;

System.out.print ("Enter number of Gums: ");

numGums = in.nextInt();

System.out.print ("Enter size of package: ");

sizePack = in.nextInt();

worthWrapped = (numGums / sizePack) * sizePack * PRICE_GUM ;
worthNotWrapped = (numGums % sizePack) * PRICE_GUM;

System.out.println("Worth of gums wrapped: " + worthWrapped);
System.out.println("and not wrapped: " + worthNotWrapped);
}// main
}// Gums
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: DIMONN DWW
/* 9T1D% WR12NN D1D2DN U2
n1yvayn 20 "9?nNT1'N 190N 110 25N N1bUaUn Nnd :u?g */
import java.util.Scanner;
public class Change
{
public static void main (String[] args)
{
Scanner in = new Scanner (System.in);
int change, numTen, numFive, numOne;
System.out.print ("Enter price for change: ");
change = in.nextInt();
numTen = change / 10;

//7222 1 1% 0 1% N1 N2 212" @ 5 20 N1UAVYN 190N 12 1nW

change = change % 10;
numFive = change / 5;
change = change % 5;
numOne = change;
System.out.println("\t1l0 NIS: " + numTen);
System.out.println("\t5 NIS: " + numFive);
System.out.println("\tl NIS: " + numOne);
System.out.println((numTen + numFive + numOne) + " coins");
}// main
}// Change
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